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Ki = aHe+bH+C (T#3568) K¢ = aH+b (Tx32®)
zzi zzic
K HREE (m2) Ky @ HiREE (m2)
H RiE ¥ R B ORREKEE (m) H  B&MLFOEEKE (m)
w BB X BRI (m) w BE ML FIE (m)
a MkRE= 0.120W+0.985 (=) a MIRfRE = 3.093 (=)
b FokRE= 7.837W+0.82 (=) b FikES= 1.34W+0.677 (=)
c FikfRE= 2.858W—0.283 (—)
Q = aXQf=aXxXKoxKs
Q = axQ=aXKoxKg zzi
zzi Q BB ML FOREMBKERER (m3/h+-m)
Q BEYZADBMNFEHRER (m3/nhfE) a 1 SEZERE 0.81 (=)
a o BEZEREY 0.81 (=) Qs : BEBENCFORERES (m3/h+m)
Qr  REVIOREREE (m3/hf&) Ko @ ZOfMEKEE (TR4ZHR) (m/h)
Ko : ZXOfafn@EkEE (TR4ZHW) (m/h)
(GtE#ER) (GtERER)
F1 RAMBEKEHENKo=0.126m/h (§#HH) DIFEDOBEMIFETNIES +T2 RIFIEKREEANKo=0.126m/h (#HS) DIHEDBMUFETNIES
N w H Ky Q HEE (%) - w H K Q BER (3%
= (m) (m) (m?) (m3/h-m) (m3/m)
12 3, . 3,
(m (m (m?) (m2/h-{8D) (m?/48D) UPO 75 0.40 0.35 2296 0234 0046
PM 150 050 0.500 3777 0.385 0042 UPO 100 0.40 045 2605 0.266 0.060
PM 200 060 0.600 5126 0523 0075 UPO 125 040 050 2.60 0282 0.069
PM 300 070 0700 6.656 0679 0130 UPO 150 045 060 3136 0320 0093
/PR 200 080 0800 367 5s 0210 UPO 200 050 065 3357 0343 0.119
UPO 250 055 0.70 3579 0365 0.148
UPO 300 060 075 3801 0388 0.181
RI BEYR BEMUFOLEEE KAE(M)] EEX T4 FRIC K B REMEKRROBBEE
i EAH<X BEUBRVBEN F TEREF F11% (mm) Ko(cm/sec) Ko(m/sec) Ko(m/h)
BEE MERVER HERVER it 0~0.01 3%106 3x108 0.000108
Sk 0.01~0.06 45%104 45x106 0016
AR 0.06~0.10 3.5%103 35x105 0.126
R 0.10~0.25 1.5x102 15x104 0.540
#E = i 0.25~0.50 85%102 85x104 3060
it 050~1.0 35%101 35%x103 12.600
INEBF 1.0~5.0 3 3x102 108.000
. [ satkm #1.5m #1.5m
D3 - X
BB B=1m &1 5m
HAK K=aH2+bH+C Ki=aH+b
a 0.120W+0.985 3093
s b 7.837W+0.82 1.34W+0.677
c 2.858W—0.283 —
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Q1= CXIXA+1000 - (A¥E=R) R5 THEFIERALAROELE

Q1 : XEMAE (m/h) THER) R THER) Tkt R

C MKmHAE (FR1) BiR 0.85~0.95 GEY 0.10~0.30

| xsREEREE (mm/h) et 0.80~0.90 Z.HADZ VAR 0.05~0.25

A xsRETE (m?) SERIFFEAEEICOVTIS, Z DI OFEE 0.75~0.85 ZHERDHEILE 0.20~0.40
BRAFOREICHOTIEZL, KE 100 Z3ENEL LS 0.40~0.60
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1) WHERKEOEE
Bt mEE A 324m2 (18mx18m)
EiRETE 108m2 (9mx 12m)
I SRRERGREE | 20mm/h
7K R 2R c EiR 0.9 Z 02
Q1 = CXIXA = (0.9x20%x108+0.2x20X% (324—108)) +1000 = 2.808 m3/h
2) RETRM
BEVZ (PM200) 200
BB AHBIR w 0.60 m
BE VY AHETKE H 0.600 m
BENCF (BHIX) 100
BE L CFIE w 0.40 m
BE b L2 FERETKEE H 0.450 m
FIFLEKRE (HAAED) Ko 0.126 m/h
3) BESEEDEE
BEYADLRER K 5.126 m?
BEXZADELEREE Qf = KoxKj = 0.126x5.126 = 0.646 m3/hf@
BEN CFOLREE K¢  2.605m?2
BEMCFOREIEE Q = KoxKf = 0.126x2605 = 0328 m3hm
4) BRENSEEETE
FlIERERH a 0.81
RIBEY ZDBENMFEHRIEE Q = aXxXQfemmvx) = 081Xx0.646 = 0523 m3/hf@
BENCFOEMBEHZERE Q = aXQimsrrey) = 081x0328 = 0266 md/hm
5) JENZBEEDEE
BEY ZDHBEEH n 418
BEMNCFOES L 3m
REHERER Q2 = Qxn+QxL = 0.523x440.266x3 = 2890 md/h
6) FREHRER EXRFIKEDLER
IHRMKE Q@ < FHEESBE Qo
2.808 m3/h < 2.890 m/h
7) BERR
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